
6AL�G J�`+? ky- kyRN J�h kR" qBMi2` kyRN AMbi`m+iQ`, a�K 6H2Bb+?2`

L�K2, aB;M�im`2,

R k j 9 8 e d 3 N Ry RR Rk Rj R9 R8 Re Rd
∑

uQm` a+Q`2
∫

Pmi P7
∫

Ry Rk Rk Rk Ry Rk Ry Ry 3 3 3 Ry Ry Ry 9y Ry 3 kyy

h`B;QMQK2i`B+ A/2MiBiB2b

Svi?�;Q`2�M A/2MiBiB2b cos2 x + sin2 x = 1 1 + tan2 x = sec2 x 1 + cot2 x = csc2 x

�//BiBQM 6Q`KmH�b cos(x + y) = cos x cos y − sin x sin y sin(x + y) = sin x cos y + cos x sin y

.Qm#H2@�M;H2 6Q`KmH�b cos(2x) = cos2 x − sin2 x sin(2x) = 2 sin x cos x

SQr2`@_2/m+BM; U>�H7@�M;H2V 6Q`KmH�b cos2 x = 1
2 (1 + cos(2x)) sin2 x = 1

2 (1 − cos(2x))

*QKKQM amKK�iBQMb

n∑

i=1
k = kn

n∑

i=1
i = n(n + 1)

2

n∑

i=1
i2 = n(n + 1)(2n + 1)

6

n∑

i=1
i3 = n2(n + 1)2

4

*QKKQM .2`Bp�iBp2b

d
dx

(xn) = nxn−1 d
dx

(ex) = ex d
dx

(ax) = ax ln a
d

dx
ln |x| = 1

x

d
dx

(sin x) = cos x
d

dx
(cos x) = − sin x

d
dx

(tan x) = sec2 x
d

dx
(cot x) = − csc2 x

d
dx

(sec x) = sec x tan x
d

dx
(csc x) = − csc x cot x

d
dx

(
sin−1 x

)
= 1√

1 − x2
d

dx

(
tan−1 x

)
= 1

1 + x2
d

dx

(
sec−1 x

)
= 1

x
√

x2 − 1

lb2 i?2 #�+Fb Q7 i?2 T�;2b 7Q` b+`�i+? T�T2`X A7 vQm M22/ 2ti`� b+`�i+? T�T2`- `�Bb2 vQm` ?�M/ �M/ �bFX
uQm K�v MQi mb2 �Mv MQi2bX

PM+2 vQm �`2 }MBb?2/- TH2�b2 +?2+F vQm` rQ`F �M/ #`BM; i?2 i2bi iQ K2X



ǳuQm ;Qi i?Bb5Ǵ



R (Ry TQBMib) lb2 HBKBib Q7 _B2K�MM amKb iQ +�H+mH�i2
∫ b

a
x2dxX

>BMi,
∫ b

a
x2dx =

∫ 0

a
x2dx +

∫ b

0
x2dx



k (Rk TQBMib) 1p�Hm�i2 i?2 7QHHQrBM; BMi2;`�HbX

U�V (9 TQBMib)
∫ 0

−∞
πx−1dx

U#V (9 TQBMib)
∫ 4

2
xπ−1dx

U+V (9 TQBMib)
∫

x2
(

x3

18 − 1
)5

dx

j (Rk TQBMib) 6BM/ dy

dx
7Q` i?2 7QHHQrBM; BMi2;`�H 2[m�iBQMbX

U�V (9 TQBMib) y =
∫ x

0
sin

(
t2)

dt

U#V (9 TQBMib) y =
∫ 0

√
x

ln
(
t4)

dt



U+V (9 TQBMib) y =
∫ ex2

0

1√
t
dt

9 (Rk TQBMib) 1p�Hm�i2 i?2 7QHHQrBM; BMi2;`�HbX

U�V (9 TQBMib)
∫

csc
(

x − π

2

)
cot

(
x − π

2

)
dx

U#V (9 TQBMib)
∫

tan7 x

2 sec2 x

2 dx

U+V (9 TQBMib)
∫ 1

−1
sin(3x)

√
ex2 + 1dx



8 (Ry TQBMib) 6BM/ i?2 �`2� Q7 i?2 `2;BQM BM i?2 }`bi [m�/`�Mi #QmM/2/ �#Qp2
#v i?2 +m`p2 y = 16 − x2- �M/ #QmM/2/ #2HQr #v i?2 +m`p2b y = 8 − 4x �M/
y = 7(x − 2)3

−1 1 2 3

5

10

15



e (Rk TQBMib) *QMbB/2` i?2 `2;BQM BM i?2 }`bi [m�/`�Mi #QmM/2/ #v i?2 x@
�M/ y@�t2b- i?2 HBM2 y = 2- �M/ i?2 T�`�#QH� x = y2 −2y+2X 6BM/ i?2 pQHmK2
Q7 i?2 bQHB/ ;2M2`�i2/ #v `2pQHpBM; i?Bb `2;BQM �#Qmi U�V i?2 x@�tBb �M/
U#V i?2 y@�tBbX

−1 1 2 3

−1

1

2

3



d (Ry TQBMib) 6BM/ i?2 H2M;i? Q7 i?2 +m`p2 ;Bp2M #v y =
∫ x

0

√
sec4 t − 1dt 7Q`

−π

4 ≤ x ≤ π

4 X

3 (Ry TQBMib) 6BM/ i?2 �`2� Q7 bm`7�+2 ;2M2`�i22/ #v `2pQHpBM; i?2 +m`p2
y = x3

3 7Q` 0 ≤ x ≤ 1 �#Qmi i?2 x@�tBbX



N (3 TQBMib) amTTQb2 Bi i�F2b 10 L2riQMb iQ bi`2i+? � bT`BM; rBi? � M�im`�H
H2M;i? Q7 7 K2i2`b iQ � H2M;i? Q7 8 K2i2`bX *�H+mH�i2 i?2 rQ`F `2[mB`2/ iQ
bi`2i+? i?2 bT`BM; 7`QK Bib M�im`�H H2M;i? iQ � H2M;i? Q7 9 K2i2`bX

Ry (3 TQBMib) � 40H# r2B;?i Bb �ii�+?2/ iQ i?2 #QiiQK Q7 � `QT2 rBi? H2M;i?
507iX h?2 `QT2 r2B;?b 0.5H#/7iX � rQ`F2` bi�M/BM; QM i?2 iQT Q7 � 507i
#mBH/BM; mb2b i?2 `QT2 iQ HB7i i?2 r2B;?i 7`QK i?2 ;`QmM/ iQ i?2 iQT Q7
i?2 #mBH/BM;X >Qr Km+? rQ`F Bb /QM2 HB7iBM; i?2 `QT2 �M/ i?2 r2B;?i\



RR (3 TQBMib) *QMbB/2` � bT?2`B+�H UMQi ?2KBbT?2`B+�HV i�MF rBi? `�/Bmb 5KX
amTTQb2 i?2 i�MF Bb }HH2/ iQ � /2Ti? Q7 8K rBi? � HB[mB/ r2B;?BM; 3L/KX
a2i mT- #mi /Q MQi 2p�Hm�i2- �M BMi2;`�H /2b+`B#BM; KQr Km+? rQ`F /Q2b
Bb /QM2 TmKTBM; �HH Q7 i?2 HB[mB/ iQ � TBT2 �i � ?2B;?i 10K �#Qp2 i?2 iQT
Q7 i?2 i�MFX

Rk (Ry TQBMib) *QMbB/2` � i?BM K2i�H `Q/ Q7 H2M;i? 9 K2i2`b HvBM; QM Bib
bB/2X h?2 /2MbBiv QM i?2 H27i bB/2 Q7 i?2 `Q/ Bb 2 ;`�Kb T2` K2i2` �M/
BM+`2�b2b HBM2�`Hv iQ 3 ;`�Kb T2` K2i2` QM i?2 `B;?i bB/2 Q7 i?2 `Q/X 6BM/
i?2 +2Mi2` Q7 K�bb Q7 i?2 `Q/X



Rj (Ry TQBMib) *QMbB/2` � #�+i2`B�H TQTmH�iBQM rBi? i?2 T`QT2`iv i?�i i?2
`�i2 Q7 ;`Qri? Q7 i?2 TQTmH�iBQM bBx2 Bb T`QTQ`iBQM�H iQ i?2 TQTmH�iBQM
bBx2X

(k TQBMib) q?�i Bb i?2 /Bz2`2MiB�H 2[m�iBQM i?�i /2b+`B#2b i?Bb T?2MQK2MQM\

(k TQBMib) q?�i Bb i?2 bQHmiBQM Q7 i?�i /Bz2`2MiB�H 2[m�iBQM\

(e TQBMib) A7 Bi i�F2b i?`22 /�vb 7Q` i?2 TQTmH�iBQM iQ /Qm#H2 BM bBx2- ?Qr HQM; /Q2b Bi i�F2
i?2 TQTmH�iBQM iQ i`BTH2 BM bBx2\



R9 (Ry TQBMib) aQHp2 i?2 7QHHQrBM; b2T�`�#H2 /Bz2`2MiB�H 2[m�iBQMbX uQm` }M�H
�Mbr2` b?QmH/ #2 Q7 i?2 7Q`K y = f(x)X

U�V (8 TQBMib) dy

dx
= 2x

√
1 − y2

U#V (8 TQBMib) y2 dy

dx
= 3x2y3 − 6x2



R8 (9y TQBMib) 1p�Hm�i2 i?2 7QHHQrBM; BMi2;`�HbX

U�V (8 TQBMib)
∫

x2 sin xdxX

U#V (8 TQBMib)
∫

x2 sin x3dx



U+V (8 TQBMib)
∫

sin2(2θ) cos3(2θ)dθ

U/V (8 TQBMib)
∫ ∞

0
xe−xdx



U2V (8 TQBMib)
∫ √

1 − x2

x4 dx

U7V (8 TQBMib)
∫ 1

0

θ + 1√
θ2 + 2θ

dθ ?BMi, i?Bb Bb �M BKT`QT2` BMi2;`�HX



U;V (Ry TQBMib)
∫ 1

x4 + x
dx ?BMi, x3 + 1 = (x + 1)(x2 − x + 1)X



Re (Ry TQBMib) 6BM/ �M 2[m�iBQM 7Q` i?2 HBM2 i�M;2Mi iQ i?2 T�`�K2i`B+ +m`p2
;Bp2M #v x = t − sin t �M/ y = 1 − cos t �i t = π

3 X h?2M }M/ i?2 p�Hm2 Q7 d2y

dx2
�i i?�i TQBMiX

Rd (3 TQBMib) 6BM/ i?2 H2M;i? Q7 i?2 T�`�K2i`B+ +m`p2 x = ln(sec t + tan t)−sin t

�M/ y = cos t 7Q` 0 ≤ t ≤ π

3 X


